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= Sub:- S.S
L-1  Apostles of Mankind
L-2  The Great Revolt of 1857.
Part- A
Q.1  Tick the correct option. (10)
Part- B
Q.1  (A) Fill in the blanks.(05)
(B) True or False. (04)
Q.2  (A) Match the following. (02)
(B) Answer the following questions in brief. (Any 3) (09)

= Sub:- Science

L-1  Safety and First Aid

L-2  Air, Water and Weather

Q.1  Tick the correct option. (10)

Q.2  (A) Fill in the blanks. (05)
(B) True or False. (03)

Q.4  (A) Match the following (04)
(B) Answer the following. (08)

= Sub:- Hindi

L-1,2,3

PART- A

-1 @ fased g fagtl (10)
PART- B

(1) 99T & 3ca} for @l | (05)

(2) TET A THATIT (05)
(3) @ SWEIE 9T | (05)
(4) GHALT 2o for@r 1(05)

= Sub:- Computer

L-1 Logo commands

L-2  Introduction to multimedia

Q.1 MCQ (30 MCQs of 1 marks each) (30)



= Sub:- Maths
L-1,23
PART-A
Q.1  Tick the correct option. (10)
PART-B
Q.1 Do as directed. (12)
(a) Find the area of rectangle.
(b) Find the area of square.
(c) Find the volume of a cuboid.
(d) Find the volume of a cube.
(e) find the simple interest and amount.
Q.2 Solve the word problem. (08)
= Sub:- English Text
Poem-1 Ch-2,3
PART-A
Q:1 Choose the correct option.(10)
PART-B
Q.1  (a) Give meanings.(04)
(b) Fill in the blanks. (04)
(c) True or false. (02)
Q.2 (a) Match the following. (02)
(b) Answer the following questions in brief. (any 4) (08)
= Sub:- English Grammar

L-1 Present Tense

L-2 Past Tense

L-3 Future Tense

L-4 Direct & Indirect speech

Q.1  (a) Fill in the blanks with the present perfect form of the verbs given within brackets. (05)
(b) Fill in the blanks with the simple past form of the verbs given within brackets. (05)
Q.2  (a) Complete the sentences using the simple future form of the verbs. (05)
(b) Rewrite the given sentences after changing them into indirect speech. (05)
Q.3 (a) Arrange the following groups of words to form meaningful sentences. (05)
(b) Rewrite the sentences by changing the singular nouns into their plural forms. (03)
(c) Join the sentences using the words given within brackets .One of the verbs in each sentences must
be in the past perfect tense. (02)
= Gujarati
L-8,9,10
Part- A
-1 ol et [@scuill Al [@Qscu ude s3l G cduvll. (MCQs) (10)
Part- B
Y1 o{lAell Uslloll Gl AL (518 URL 7)  (07)
Y2 ol Al wuell oot YR (818 ual 5) (05)
Y3 o{lA AL Aceall GUAL 531 atsa YL $A. (518 ULl 5) (05)
uy e sl QR wee avil. (sisua 6) (03)





